2baBE

Number of Pages in Booklet - 40

|ALP-23|

A - W A A/
Question Booklet No. & Barcode

t{&amﬂmﬁtm 150 T
No. of Questions in Booklet : 150 _E%Tm {onen this Quiestion
. ¥ E-n-nﬁdunntuy:n:fﬂm in do so. 384333
Code : 77
e o ) Sub : Psychology-1 <
wwa : 03 992 + 10 fme afafs Paperd siftrram @ : 7S
Time : 03 Hours + 10 Minutes Extra* Maximum Marks : 75
e 5 0 e 3 S T e % ]y R A b

ekt szt e o e v T e e |

should casure thut -

- S T . S -t o e e e e
o 0,059 3, T i g e e el e o e e, o o e e, e e s ot o o Tl B/ g owR k0
Hﬁmﬂhﬁvwﬁmuﬁﬂimmﬂ!ﬂﬁﬁ|q1ﬁhﬁﬁﬁmﬁmﬁﬂwﬁmﬁwm]ﬁtﬂhmﬁ

On opening the paper sealipolytbene bag of the Question Booklet before attempting the question paper, the candidate

+  Questinn Booldet Number anid Barcode Sumber of OMR Answer Sheet are same.

»  All pages & Questions of Question Booklet and OMR Answer Sheel are properiy printed. All guestions as
mentioned above are available and no page s missing/misprinted,

IT there is any discrepancy/defect, candidate must obtain another Question Booklet from Invigilator, Candidaie himsell shall

be responsible Tor ensuring this. No claimfobjection in this regard will be entertained afler five minutes of start of ﬂlmintinb

41T 8 W T A W A |

OME 71-93% 15 5 -qiFmm & o5 o § | 79 ST e

ferET Wi W =, A e P = aE # S

#tF afe ufyz @m0 @ faem =i

T A A A ST AT SN T AT 5

W | WA T e e ] v ST v

6 W T o E T e oSS oW 13 W oER Wm0 e
e e TR e e A s R s A A e il |

7. W wva & i fieee frd w8, e e 1, 2,3, 4, 5 e
it & | snendi =t e Bl W T B e o TR
(=) =1 ITE-TTE 9 A W o T E e o k)

8wt s we w T Al E=oaed € A genae A wwd (5)

firers w mpm w1 | wfy wiw d & w4 ot dten e aff fem

wrm &, 1 R T % fEd e aw oW 13w owmEy wEm

FM-59 §H w11 & awnw asad] sfiee vy 8 a5t onam

Fo-TAw Wiw A e owwen wAt & il ow e () W

fim ow & | qk B f fiaffm wem @ 10 fime = wfelos

woy fear o & )

10 Wiz swdi (0% & ofes wel F wiw fieeat § F st ot
fumey atften ol s #, W1 TEw) awTW AT 9T |

11, = fah wer & flt wam =0 w mam o a6 G @A
v & feh we Shaly wured § B SE e w R

12 e v o s T TREOEE w0 =) wien de @ osem
wviam whia & | 9 el aed] % ww T W wfi el e
k@ awE g awm g Feweme sl & owad |

Wt - o s i Aee e e TN B SeE e § uE R

it vk et &, s anll i g e 9wt = SO T OeeRr

srfafrw whe (w9 F aafem el o dwoem wmgaw)

wfefam, 022 #%7 &= o so@ UE sy & Frest-wme]

i e il oy | w T o e s | fE ol s

& s st @ e e

s

[y

g

o
= = 5 . Y
W wdanieat @ fag fw B i INSTRUCTIONSFORCANDIDATES
| weaw wvg & et s fewey won sfend € L. It is mandatory o fll one option for cach guestion.

2wl wvE o w wmE R 2. AN guestions curry equal marks:

1, TEE U W W U W o At | o whe s 1 3. CUniv one amswer 15 10 be given for coch question, 1 more than

ane anpwers are marked, i would be treated us wrong siswer

The OMR Answor Sheet i inside tis Question Bookiet: When sou

are direced 1o open the Crosstion Bookles, take out the Answer Sheat

and fill in the particslars corsfilly with Blee Ball Foint Pen only.

Mease correctly fill vour Roll Number i OMR Answer Shect

Candidote will themeelf be regponsitle for Glling wrong Boll No

fi. 173 part of the mark{s) of each guestion will be deducied
for each wrong answer. A WIong answer IMcARE an ineorrect
anzwer or more than one answers for any question

7. Estch question has five options marked as 1,2, 3, 4, 5. You
fave to darken only one circle (hubble) indicating the
currect e o the Amver Sheed wdng BETE BALL PFOINT PEN.

®. If you are not attempting 2 guestion then you have 1o dorken

the cirele *5°. If noac of the five circles is darkened,
ome Ahird (1/3) part of the marvks of guestion shall be dedoeted.

Afier solving question paper, candidsie must asceriam

that he/she has darkened one of the circles (bubbles) for

each of the guestinns, Extra time of 10 minutes beyond
scheduled time, is provided Tor this,

10 A candidate whe has mot darkened any of the five cireles
im more than 10% goestions, shall be disqualified,

U1 there is amy sort of ambiguitymistake either of peinting o
fiuctun) neture then oot of Hindi and Eaglish Versions of the
question, the English Version wall be treated s aundard

12, Mobile Phone or any uther clectronic gadiet in the Exumme b
bl is srictly prohibited. A candidiate found with amy of such
ohjectionshic material with himuher will be srictly dealt s« per rules.

Warning = 17 a candidite is found copying oe if any unnuthorized

matitinl s found i bisfher possession, FLR, wonld be lodged

apainsd himher inthe Police Stnion and Beithe would Tinble G be
prosecuted under Rajastban Public Examinatinn (Measares for

Prevention of Unfair Means in Reerwitment) Act, 2022 &

any other laws applicable and Commission’s Rules-

Regulutivns, Convnission may also debur himher permanenily

froen all future examinarioas

A

Ti-aw A 0 WA — g T S e

g W !
T o | - g i mmwm,wwhmd vﬁﬂnwnmmmmwm ﬂvﬁn ﬁuwﬁmﬂmﬂ
= W § i T - o wrds of e i el e e vk w0 e i g Wi wE O uEr s e |

Tl T =T i

77-0




1:

b.

Frafafes § & @7 @ o Ak | L

SAE T I R 7
(1) FFEH FET=A

(2)_, =AgEr v

}(Q))R&mmﬁﬁwm

(4) wfrE &1 ==

(5) I 9w

atas AT & Avfl T aEATE w

gfaured fame fan 2

(1) z&fEm (2) =Teere

(3) =adies (4) #=

(5) rafE g

fafeifiga 9 5 fFm v =1 afes sfom

% T 1 afmfem 78 e 2 7

(1) T=ai= FuEaT

(2) 3w T

(3) w9 wETee Ug HiEFEgE

(4) T

(5) 3w o

aifee @fam & v 4 frds =€ &

way fopan s 8, ifs —

(1) foefes 92 =1 5991 FTEE AR |
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(5) TG ¥

202 &1 Aaw waEeTE F99 & o s

ERCh

(1) A &g 7910 |

(2) 7oA =gEn 'MW TR sy woy
TR T |

(3) FTHEF UFHN H1, FH WIS WA |

(4) 9 #@v4 7 79 HE =HER F
HEEA % |19 qfhd F |

(5) Faia 9o

Which one of the following is an
application of operant conditioning ?
(1) Aversive conditioning

{(2) Behaviour modification

(3) Systematic desensitization

(4) Transfer of training

(5) Question not attempted

Who introduced category clustering
techmique of verbal learning ?

(1) Tulving (2) Bartlet

(3) Bausfield (4) Morgan

(5) Question not attempted

Which one of the following is not
included as a determinant of
verbal learning ?

(1) Intralist similarity

(2) Sequential dependency

(3) Arousal and affectivity

(4) Prompting

(5) Question not attempted

In the experiments of wverbal

learning, nonsense syllables are

used due to

(1) Nonsense syllables are easier
to make.

(2) Less time is consumed to
make the nonsense syllables.

(3) Associative value of nonsense
syllables is very less.

(4) Nonsense syllables may be

learned in any order or
sequence.

(5) Question not attempted

One of the rule to make

punishment more effective 1s

(1) Making it very intense.

(2) Applhed some other time the
bad behaviour occur.

(3) An aggressive type, such as

spanking.
(4) Pairing with reinforcement of
the correct behaviour

whenever possible.
(5) Question not attempted
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6. ﬁ%yﬁaﬁﬁ?&mw_’
ofzrar @ 9TH 26 2 |

(1) 9 =T (2) v e
(3) WeomeHd  (4) I
(5) srvifE wwA

6. Secondary reinforcers get their
reinforcing power from the process
of
(1) Classical conditioning
(2) Law of effect
(3) Observation
(4) Insight
(5) Question not attempted

7. Trafefea w1 gifea S . 7., Matchthe followine::

|
|
!
|
l
|
1
|
|
=11 e=i-11 | List-1 List-I1
(TR %) (Bomf | (Initial task) (Comments)
(Second task)
(qET ) } A SA-RA i. Stimuli are
A.SA-RA i, e 98 & 3?[(1 SC—-RD same and
SC-RD oA JAE # | 4 rCEponSts arc
- . L similar.
B.BA-RA ii. 3ws & sfrad | B. SA— RA ii. Both stimuli
SA-RA ZE = 2 | 1 SA-RA and responses
- are different.
C.BA-RA: i 9ws ¥ T g C. SA—RA iii. Stimuli  are
SA-RD  EGRETEEI | SA-RD different but
D.SA—RA  iv. 9+ §AH & T | responses are
SC-RA s = # | same.
E D. SA-RA wv, Stimuli  are
kT : SC-RA same but
A B ¢ D ' responses are
i : ; s f different.
(1) n 1 v 111 h Codess
(2) 1 1 i w | A B C D
(3) i i i v i (1) i i iv iii
(4) i iii iv i .t @2 1 u iii iv
(5) e v E (3) u i i v

(4) 1 il v il
(5) Question not attempted

8. =fe 2] =1 s g w1 g gHaa fafy
# drar 91 74 fHa wHwR A il
ey =z 79m ¢

(1) HERUwEsF  (2) 996 956
(3) SIHHETE (4) V AT 95
(5) HATIE 9H

8. If a list of words is learned by free
recall method then, what would be
shape of the learning curve ?

(1) Simple curve

(2) Bow shaped curve

(3) S shaped curve

(4) V shaped curve

() Question not attempted
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Savita failed repeatedly in subject
Algebra. Finally she gave up and
was seriously considering dropping
out of college. One day her best
friend offered to personally help
her if she signed up for college
algebra again but she refused.
What concept might explain her
reluctance ?

(1) Latent learning

(2) Learned helplessness

(3) Insight learning

(4) Observational learning

(5) Question not attempted

Which of the pair(s) is/are correctly

matched ?

A. Associative : Putting

clustering presented

stimuli
together n a
manner that
utilizes pre-

existing
associations.
B. Categorical : Breaking a
clustering large number
of specific

words down
mto  several
smaller
groups
orgamized by
conceptual
similarity.

C. Subjective . Involves

orgamzation using

idiosyncratic
associations
that are
relevant  to
individual.

Codes :

(1) Only A

(2) OnlyAand B

(3) OnlyBandC

(40 A, BandC

(5) Question not attempted
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14.

|

|

l

[

|

|
(5) HAARE 9 I
FH T1 YEeEE ST A TE 7 :
|

|

|

|

(1) &/ (2 i

(3) F=a3 (4) 344

(5) HATRA ¥

i Frman 2 ¢

(1) u% wrafis TEas A" & e |
& | HrAfA uE A | |

(2) e Ty e @R 3 e @ o |

(4) Hﬁamuﬁaﬂﬁaﬁﬁﬁﬁm?ﬂ:

|
. |
(3) Wff wegwd & waifEs w9 i:!
&n ufes 85 Teh f 1 FefeE |

F11 % fou svam e s wwa 2 |

(5) FATHA IH

AT AT W0 3 o gfma F 7 |
Y9 FAAT & IF A AT R

(3) wiufas waE (4)  ERTET
(5) i 5

15. 74 fom @ yd wfom F1 9w w8 |

77

S 2

(1) fam

(2) wfam™m

(3) sriamy wEE ;-
(4) |
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11.

12.

13.

P14

. 15.

When previous learning makes no
differences at all to the learning in
the new situation, it is called

(1) Negative transfer of learning
(2) Positive transfer of learning
(3) Zero transfer of learning

(4) Absolute transfer of learning
(5) Question not attempted

Which one of the following 1s not an
element of observational learning
according to Bandura 1986 ?

(1) Attention

(2) Memory

(3) Desire

(4) Experience

(5) Question not attempted

Premack principle is

(1) A primary reinforcer 1s
thought of being related to an
organism's survival.

(2) A secondary reinforcer is the
stimulus that acgquires the
reinforcing value because of
pairing with prumary
reinforcer.

(3) All  responses can  be
potentially reinforced.

(4) More frequently occurring
activity can be wused to
reinforece the activity that
oceurs less often.

(5) Question not attempted

Information enters into short term
memory through a process known

as .

(1) Recency effect

(2) Selective attention

(3) Primary effect

(1) Repetition

(5) Question not attempted

Effects of prior learning on new
learning refers to

(1) Thinking

(2) Learning

(3) Transfer of learning

(4) Logic

(5) Question not attempted
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(5) A 9
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(2)

Fadafeas sy iR I e ¢
(1) HaTHa woged (H.30. ) F digar |

2) S

(3) W Em

(4) WA FAfEE ,
(5) 3 99 i
FqEaE ot & e fadi fafte oz & |
ferq s sl wyfa &1 967+ Fd R/ |
afz #7939 weE & 34 F =0 A Grad g, |
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(4) it nies ‘
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17,

18.

19.

16. ﬁ?ﬂﬁﬂ'ﬂﬁﬁmﬁ;ﬁgﬂﬁﬁqﬁlﬁﬁm | 16. Who suggested that short term

memory is nol a passive store
house but rather a work bench that
holds a wide variety of memory
material that are constantly
handled ?

(1) Baddeley (1950)

(2) Bartlett (1932)

(3) Ebbinghaus (1967)

(4) Craik and Lockhart (1998)

(5) Question not attempted

Shalini can recall with great detail
the day of her marriage and all
that occurred. What might
psychologists sav about these
particular flashbulb memories 7

(1) The memories were likely
enhanced by the hormones
released during emotional
moments.

The memories should last up
to 15 to 20 years.

The memories are unusually
accurate.

The memories are stored as
non-declarative memories.
Question not attempted

(2)
(3)
(4)
(5)

In R-type conditioning, strength of

conditioming 15 indexed by

(1) Magnitude of CR (Conditioned
Response)

(2) Response Rate

(3) Duration of Response

(4) Latency of Response

(5) Question not attempted

Research has demonstrated wvou

can enhance your memory for a

specific word if you think about its

meaning, how it can be used and

by giving a personal example of its

use. Thie iz best accounted for by

which model of memory ?

(1) Levels of processing model

(2) Parellel distributed
processing model

(3) Information processing model

(4) Three stage model

(5) Question not attempted
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(. =ity <1 9 61 g . TifE=aA
D. ¥4 5@ fagra . genuE
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E T4
(1) ad A 3 C
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(40 A.B,C3mD
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20.

21,

Which of the following pairs are
correctly matched ?

A. Dual code : Paivio
hypothesis

B. Independence : McGeoch
hypothesis

C. Tip of the tongue Robinson
phenomenon

D. Preservation Muller
consolidation and
theory Pilzecker

Codes :

(1) Only Aand C

(2) [}nly B and C

(3) Only A BandD

4) A B,CandD

(5) Question not attempted

Match the following :

List-I List-I1

A. Encoding i. Loss of

failure memory due to

the passage of
time, during
which memory
traces are not

used.
B. Proactive 1. Information is
interference not attended
to encoding.
C. Decay ii. Newer
information

interferes with
the retrieval of

older
information.
D. Retroactive 1v. Older
interference information
interferes with
the retrieval of
newer
information.
Codes :
A B C D
(1) 1 il iii v
(2 1 11l v 1l
(3) u 111 iv i
(4) n v 1 111
(5) Question not attempted
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23.

B/E 7
A, Fadl . TEATEE  HeHHaT
TETT H FH F AifaE
HETI T aA A B |
B. memifim . 3 geEedd o
THHT wfed FAR # 37Y
mmﬁmaﬁ%{m
4
C. B WFHT : ETHS EEEHQ-FFI
o a1 2 T fem
yERE Ef |
$L:
(1) =+aaA (2) a= B
(3) a7 C (49 A B3mC
(5) FAANA T
+17 T fag= s=aie wfowon v am
stfirion % men R W HEA R 7

(1) s wraE # fagr

(2) Ien-Zelvaa fagra

(3) 9iEda uTEd S FATEE

(4) "mfaes g5 g

(5) FAAHA 9%

EIETIE

(1) ww wgfa wfEn fes go gt
1 TR fa FE R |

(2) v @i uiw faes gm fGThm
TER 1 A1 & e v 3=
W IS A8 A1 7 |

(3) T8 Us AEiEs whEar 2 e gm
wgfer 1 e ST A HEAl B |

(4) 9% W uEfEs whEa B e gm
TR &1 I+ &9 I FhaT ¢ |

(5) a9

P ——

23.

22, faafafs @ =7 @/3 99 v gafaa | 22, Which of the following pairs isfare

correctly matched ?

A. Shallow Structural
processing encoding
emphasises the
physical
atructure of the
stimulus.
B. Intermediate Semantic
processing encoding
emphasises the
meaning of a
verbal input.
C. Deep :  Phonemie
processing encoding
emphasises
what a sound
like.
Codes :
(I) Only A (2) OnlyB
(3) Only C 4 AB&C

(5) Question not attempted

Which theory focusses on the
distinction between mtrinsic
motivation and extrinsic motivation ?
(1) Theory of reasoned action

(2) Self-determination theory

(3) Stages of change model

(4) Social cognitive theory

(5) Question not attempted

Chunking 1=

(1) A memory process through
which information is collected.

(2) A memorv process through
which  various types of
information 1s consolidated in
a higher order unit.

(3) It 1s a mental process by which
memory can be enhanced.

(4) It is a mental process by
which recall can be enhanced.

() Question not attempted
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25.

26.

27.

28.

A s e faemend e
warEafafE g v

a. EMAF 1 Ge o

b. mmmmemﬁﬁ
c. =nu g b A

d. =i veaE A6E F6 1

(1) a, b3 cHad

(2) a b3ndFEa

(3) b, ¢ 3 dHIA

(4) a,b, c 3 dHae

(5) HIwld 9

s & s -faes fagraan =

# & 39 i sfigon S smm E 7

(1) #med ; FrEE

(2) HEEEdl T

(3) wEe ; favasga

(4) @z ; F=EEdl

(5) FHwIE ¥

wifisfa =Een F 8 900 & difhs ®9

H A= fegy Fifam |

A. wEE SHFEn | o w2 |

B. sEsgadrs & 9fd § FEE w5 @
el &l

C. = S

D. FEEHAOHA] S TEEH

E. stEsaEaisi & gfa & fore fame ge

F. qrRT U9 2U8 &1 oiH

$l:

(1) DFCAEB

(3) DEACFB (4)

(5) FAAHA IH

ml-ﬁra:aaam.am B A R ?

(1) mang:ra%sﬁ‘wﬁ EEETH
.EHI'FI I 7 7 YESAI 8 |

(2) =& ot 8 F5
HTEATIFATHI 1 g A 2 |

(3) =% fawg foasd =18 Wt warges & 30
= GO FEATR |

(4) == fag 5= o fdt # oft freeh |
wEvaHd %1 9fd * fou 91 76 79
wifEm 7@ 2. nzraamﬂ‘:fﬁa'ﬂaq‘n
AT =R |

(5) IAAIE 9H

(2) BCDEAF
ABCDEF

e v - ——— i+ e e a L mmT TEE

w

25.

26.

27.

28.

Intrinsic motivation is characterized

by inherent tendency -

a. To seek out novelty and challenge.

bh. To extend and exercise one's
capacities.

¢. Toexplore and learn.

d. To seek social recognition.

(1) a,bandconly

(2) a banddonly

(3) b, c,and d only

(1) a,b.candd

(5) Question not attempted

According to self determination theory
of motivation, ___ and __ form the
basis for intninsic motivation.

(1) Competence; Relatedness

(2) Autonomy; Relatedness

(3) Relatedness; Trustingness

(4) Competence; Autonomy

(5) Question not attempted

Rearrange the =six steps of
motivation behaviour logically :

A. Engage in goal directed
behaviour

B. Reassess need deficiencies

C. Performs

D. Identifies needs

E. Searches for ways to satisfy the
needs

F. Receives either rewards or
punishment

Codes :

(1) DFCAEB (2) BCDEAF

(3) DEACFB (4) ABCDEF

(5) Question not attempted

According to Maslow, what 1is

meant by a peak experience ?

(1) That point, even a moment,
when someone reaches a state
of self actualization.

(2) The point at which someone
reaches to fulfill growth needs.

(3) The point at which someone
begins to work through the
hierarchy.

(4) The point at which someone
must descend back down the
hierarchy to address a
previous need which is no
longer secure.

(5) Question not attempted
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31.

Maslow (1971) added few more

needs in his original hierarchy.

They are and

(1) Growth needs, cognitive
needs, Aesthetic needs

(2) Cognitive needs, Aesthetic
needs, Transcendence needs

(3) Aesthetic needs, spiritual
needs, Cognitive needs

(4) Self  actualization needs,
Spiritual needs, Cognitive needs

(5) Question not attempted

Emotions as determined by

interaction among  subjective,

environmental, neural and hormonal
factors can be characterized as :

a. Emotions give rise to affective
experiences, such as pleasure or
displeasure.

b. Emotions stimulate to generate
cognitive explanations.

¢. Emotions trigger variety of
mternal neurobiological changes.

d. Emotions always elicit
rewarding behaviour.

(1) a.bandconly

(2) b,canddonly

(3) a,candd only

(4) a,b,candd

(5) Question not attempted

According to Yerkes-Dodson law, to
obtain optimal performance

of arousal is most appropriate for
relatively simple task.

(1) High-moderate level

(2) Stable level

(3) Intermediate level

(4) Low level

(5) Question not attempted
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33.

34.

35.

Which of the following is not one of
the three elements of emotion ?

(1) Physical arousal

(2) Behaviour reaction

(3) Objective experience

(4) Subjective experience

(5) Question not attempted

Who among the following offered
two distinct theories of motivation :
one for ammals and one for humans ?
(1) Aquinas (2) Descartes

(3) Darwin (4) McDougall
(5) Question not attempted

Manisha smiles whenever she
goes, she smiles a lot in the
classroom, which in turn prompts
her fellow students to smile,
making them feel happier too. This
effect 1= best Explajneg by which of
the theory of emotion ?

(1) James-Lange

(2) Cognitive mediational

(3) Schachter-Singer

(4) TFacial feedback hypothesis

(5) Question not attempted

Match the following :

List-1 List-II
(Studyving (Explanation)
motivation)

A. Behaviou- i. Hidden desires
ristic shape an
approach individual

behaviour.

B. Humanistic 1. Incentive,
approach rewards and

punishment

C. Cognitive iii. Actuahzing
approach needs

D. Psycho iv. Behaviour is
analytic determined by
approach our thinking

and
attributions

Codes :

A B C D

(1) u iii v i

(2) in il v i

3) 1 i v il

(4) 1 11 1 v

(5) Question not attempted
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36.

37.

38.

39.

40.

identified basic
between

Robert Plutchik
emotions, the relationshi
emotions 1s differentiated by

(1) Intensity and Proximity.

(2) Intensity, Similarity and
Polarity.

(3) Intensity, Similarity and
Proximity.

4) Similarity and Proximity.

5) Question not attempted

Broaden and build theory of

positive emotions is developed by
(1) Myers and Solvey

(2) Losada

(3) Fredrickson

(4) Emmons and Peterson

(5) Question not attempted

Which of the following statements
isfare correct ?

A. Positive emotions . facilitate
chances of survival and
reproduction.

B. Motivation is not a basic element
of the experience of emotion.

Codes :

(1) Only A

(2) Only B

(3) BothAandB

(4) Neither A nor B

(5) Question not attempted

The phrase “I am embarrassed
because my face 1s red” exPlainEd
by which theorv of emotion *

(1) Cannon Bard theory

(2) James Lange theory

(3) Schachter-Singer theory

(4) Common sense theory of emotion
(5) Question not attempted

Consider the following statements :

A. Feeling denotes the pleasure
and pain dimension of emotion.

B. Mood 18 a cognitive state of
long duration but of lesser
intensity than emotion.

C. Emotions are a complex pattern
of arousal, subjective feeling and

itive interpretation.

Wh.l%ﬁmnf the mstatement given

above is/are correct 7

(1) Only A (2) BandC

(3) Aand C (40 A BandC

(5) Question not attempted
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occurs when a person must

choose between two or more

competiting and  incompatible

desires, goals and actions.

(1) Frustration (2) Stress

(3) Conflict (4) Confusion

(5) Question not attempted

Match the following :

List-1 List-I1

A. ‘Between  the 1. Approach
devil and the Approach
deep blue sea’ Conflict

B. Six on one 1. Approach
hand, half a Avoidance
dozen on the Conflict
other’

C. Wanting to buy iii. Avoidance

a new motor Avoidance
bike but not Conflict
want to make

monthly

payments

D. Buying a house iv. Double

out in country Approach
or in the city Avoidance
Conflict
Codes :
A B C D
(1) 1 i i1 iv
(2) iii i ii iv
(3) 1 111 v i
(4) m 11 i v

(5) Question not attempted

Humanistic theories of motivation

are based on the premise that

a. Humans are basically good and
possesg the innate tendency to
grow and mature.

b. Humans are basically both good
and bad; and having the
biological tendency to grow.

c. Every individual is unique.

d. Every individual possesses need
for self-actualization.

(1) a, bandconly

(2) b, candd only

(3) a, canddonly

(4) a,b,candd

(5) Question not attempted
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45.

of problem solving ?
A. Trial and error B. Mental set

C. Algorithms ). Heuristies
E. Functional fixedness
Codes :

(1) A BandC (2) A DandE
(3) A CandD (4) C,Dand E
(5) Question not attempted

A psychologist asks people to
envision a circle, next he asks
them to draw the circle they
envisioned. When comparing the
pictures, almost all circles look
identical. The fact that a circle
typically fits a specific and rigid set
of rules is an example of

(1) Formal concept

(2) Natural concept

(3) Fuzzy concept

(4) Prototype

(5) Question not attempted

People oriented to be verbally
aggressive tend to have

A. Low threshold for Behaviour
Activation System (BAS)

B. Low threshold for Fight-Flight
System (FFS)

C. High threshold for Behaviour
Inhibition System (BIS)

D. High threshold for Behaviour
Activation System (BAS)

(1) A B,C (2) ADC
@3 B.CD (4 ABD
(5) Question not attempted

77




47. Trafafaa 4 & RIS = & | 47. Which one of the following iz the
FIAH FI AR FA R GTR 7

49.

77

|

A TENA |
B. waws |
C. wwiE }
D. wEmfE t
ETE
(1) AB.C,D (2 BACD
(3 C,B,AD 4 CABD |
(5) i 9o I
aﬁmﬂ%ﬂmmmmﬁi
Hﬁaﬁm%mmﬁﬁmﬁéﬁi
1 =1 T4 HTA & H GIHAED |
ferm 1 v R R | g faufa @t |
FHT 39 1 I H g0 HE |
HEIHE # A 8 E
(1) =fasm ; FJPHATS I
(2) wfard ; Frmarms i
(3) sfaErd ; oEr |
(4) FTETl ; AhEd II
(5) FATH 1.
e 5 e i |
-1 -1 |
A, ved fa i, @t |
B. i gl gwE i, !
C. st @ fram i, waAy |
D. dEd O EE v, FEEE 1
e |
A B C D i
(1 i il il v i
@ ii i v i |
@) i iv iii i |
(4) v i iii i i
(5) HATIE M i

15

49.

ool p

correct order of the stages of
creative thinking 7

A. Nlumination B. Incubation
C. Preparation D. Verification
Codes:

() A,B,C.D 2 BACD
3 CBAD 4 CABD

(5) Question not attempted

If you begin with a problem and

came up with many different

solutions in mind you are using
which is a type of creative

thinking, contrarily sometimes you

come up with correct solution by

using __ thinking.

(1) Convergent ; Inductive

(2) Convergent : Deductive

(3) Convergent ; Divergent

(4) Divergent : Convergent

() Question not attempted

Match the following :
List-I List-11
. Productive thinking 1. Luchins
. Water Jar problem i1. Duncker
. Rule of thumb iii. Heuristic
. Candle  problem 1v. Werthiemer
experiment
Codes :
A B C D
(1) 1 i it v
(2) 1 1 v 1
(3) u v il 1
(4) iv 1 iii i

(5) Question not attempted
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51.

52.

technique to stimulate different

modes of thinking ? 1
(1) Torrance (2) Guilford

(3) Bruner (4) De Bono 4
(5) Question not attempted

Which of the following pairs is/are
correctly matched ?

A. Confirmation : The tendency to
Bias search for
evidence that fits
one's beliefs
while  ignoring
any evidence
that does not fit
those beliefs,
B. Hindsight : The tendency to
effect assume that we
would have been
better at \
predicting actual
events than 1is
really true.
C. Oversight : The tendency to
Bias look flaws if the
averall 1ssue 1s
perceived as
impartant.
Codes :
(1) Only A
(2) OnlyAand B
(3) OnlyAandC
(4) A.BandC
(5) Question not attempted
Who  proposed  ‘brainstorming

technique’ to increase fluency and
flexibility of ideas to open ended
situation ?

(1) Torrance

(2) Wagquer Mehendi

(3) Osbarn

(4) Bemjamin lee

(5)  Question not attempted
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are especially helpfulin

(1) Internal thought processes
(2) Behavioural assessment
(3) Projective test

(4) Personality inventories

(5) Question not attempted

Your new teacher announces in class
Tn my experience | have found that
all students have a certain degree of
laziness. Some have a lot and others
have only a little. But everyone has
same’. This teacher seems to favour
the __ approach to understanding
personality.

(1) Humamstic approach

(2) Psychodynamic approach

(3) Idiographic approach

(4) Nomothetic approach

(5) Question not attempted

55. Maich the following :

List-1 List-IT
A. Formal i. Conclusions are
reasoning based on two
proposition called
premises.
B. Syllogistic 1. One answer,
reasoning straight forward
conclusions  from
specific method.
C. Everyday iii. Planning, making
reasoning commitment,
evaluating
arguments, more
complex and less
clear-cut.
Codes:
A B C
(1) 1 i 111
(2) 1 1 11
(3) i ii i
(4) 1 1i1 i1
(5) Question not attempted
o
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a7.

8.

posits  the following  four
hierarchically organized levels of

personality :

A. Traits

B. Habitual responses
C. Types

. Specific responses

The correct order of their
organization starting from the
lowest to highest is
(1) D,B,CA (2 BDAC
3 B,D.CA (4 DBAC
(5) Question not attempted

Assertion (A) : Personality traits
measured by 16 PF are source

traits.
Reason (R) : Cattell used oblique
rotation to identify

personality traits.

(1) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(2) Both (A) and (R) are true, but
(R) is not correct explanation
of (A).

(3) (A)1s true, but (R) 18 false.

(4) (A)is falge, but (R) is true.

(5) Question not attempted

What is the function of a wvalidity

scales ?

(1) To determine if a person is
giving an honest answer.

(2) To determine how a subject
really feels.

(3) To help better explain the
results of a personality test.

{4) To offer a diagnosis of abnormal
behaviour plus a positive
therapeutic treatment.

(5) Question not attempted
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60.

61.

62.

Which one of the following concepts
is not the part of behavioural
theories of personality ?

(1) Reciprocal determinism

(2) Self efficacy

(3) Collective unconseciousness

(4) Reinforcement/Punishment
(5) Question not attempted

Three major elements of learned

helplessness are

(1) Emotional effect, Reduced
needs, Cognitive style.

(2) Emotional problem, Reduced
confidence, Cognitive
explanation.

(3) Emotional disturbance,
Increased motivation,
Depression.

(4) Emotional disruption,
Reduced motivation,
Cognitive deficit.

(5) Question not attempted

‘We set our own goals and we often
provide, our own rewards when we
reach them'. This process 1s known

as____.
(1) Self Cognition

(2) Self Efficacy

(3) Self Reinforcement

(4) Self Control

() Question not attempted

Match the following :

List-I List-11
A. Kelly 1. Delay of
gratification
B. Goldberg 1. Meta needs
C. Walter ii. Fundamental
Mischael lexical
hypothesis
D. Maslow iv. Personal
construct
Codes :
A B C D
(1) 1 i i1l v
(2) 1v 111 i i
(3) m v il i
(4) 1 111 1 v

(5) Question not attempted
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63.

64.

65.

66.

67.

Consider the following statements :

A. Meta  components control,
monitor and evaluate cognitive
Processing.

B. Performance components execute
problem solving strategies.

Which of the statement

above is/are correct ?

(1) Only A

(2) OnlyB

(3) BothAandB

(4) Neither A nor B

(5) Question not attempted

Which of the following i1s not a
group test 7

(1) The Otis Lennon

(2) Cognitive abilities test

(3) The Henmon Nelson

(4) The WISC-R

(5) Question not attempted

According to Sternberg, ‘book
smarts’ is another way of talking
about which kind of intelligence ?
(1) Analvtical Intelligence

(2) Creative Intelligence

(3) Practical Intelligence

(4) Emotional Intelligence

(5) Question not attempted

Match the following List-1 with
List-II ;

given

List-I List-IT
A. Pyknic 1. Disproportional
B. Athletic 1. Ectomorphic

C. Asthenic 1. Mesomorphic
D. Displastie 1v. Endomorphic
Choose the correct match :

Codes :

A B C D
(1) v i i i
) 3 i1l 11 iv
(3) 1 i il v
(4) iv i 1 11l

(5) Question not attempted

The new Freudien theorist
proposed that people’s lives are
dominated by search for ways to
overcome feelings of inferiority and
inadequacy.

(1) CarlJung (2) Carl Rogers
(3) Adler (4) Bandura
(5) Question not attempted
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70.

71.

72.

a

c o w

73.

Halstead Reitan and Luna

Nebraska are standard tests

(1) of intelligence

(2) of neuropsychology

(3) of personality

(4) in climeal psvchology

g@h Question not attempted
0 proposed the

‘Heritability ratio” ?

(1) Arther Jenson (2) Francis Galton

(3) Spearman (4) L. Thurstene

(5) Question not attempted

In the 'PASS Model' of Intelligence.

mainly four elements of

intelligence are included. One more

element of intelligence is added in

recent researches, is

(1) Optimism

(2) Self-motivation

(3) Knowledge

(4) Memory processing

(5) Question not attempted

Who proposed a theory of personality

based on need for freedom and need

for belongingness 7

(1) Kretschmen (2) Erich Fromm

(3) Karen Horney (4) Sullivan

(5) Question not attempted

Match the following :

term

List-I List-I11
. Three-tier 1. Thurstene
hierarchical model
. Theory of primary  u. Carroll
mental abilities
. Intellectual style 1. Das and
Nagllen
. Cognitive iv, Sternberg
assessment system
Codes :
A B C D
1) 1 i iii iv
2% 1 i v 3
3 1 1 v it
4{ 1 1 1ii v
5) Question not attempted
In Gardners view, effective
counselling psychologist and
managers would likely be high in
intelligence.

(1) Verbal/Linguistic

(2) Visual/spatial Intelligence
(3) Interpersonal Intelligence
(4) Intrapersonal Intelligence
(5) Question not attempted

o
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74.

75.

76.

77.

78.

The first attempt for both
theorization and measurement of
intelligence was made by

(1) Binet

(2) Spearman

(3) Franas Galton

(4) J.M. Cattell

(5) Question not attempted

According to Serpell (1982), ‘A
study on Chewa adults in Zambia’,
key ingredients of intelligence in
collectivistic culture are

(1) Social intelligence, Honesty,

Rationality

(2) Honesty, Prudence  and
Humility

(3) Prudence, Rationality and
Honesty

(4) Social responsibility, Obedience

and cooperativeness
(5) Question not attempted

What does ‘Flynn effect’ theorize ?
(1) Intr.-lhgence scores are
steadily increasing overtime
from generation to generation
in modernized countries.
Intelligence scores are
decreasing due to an
overreliance on technology.
(3) Intelligence scores are
relatively stable in contrast to

improvement in our
educational system.
(4) Intelhgence scares are

meaningless and should be
abandoned.
(5) Question not attempted

‘Flynn effect’ depicts the effect of
__ onintelligence.

(1) Heredity (2) Environment
(3) Gender (4) Birth order
(5) Question not attempted

According to Guilford, structure of
intelleet model, number of
operations, contents and products
are

(1) 45and6 (2) 5 4and6
(3) 6,5and6 (4) 5, 6and4
(6) Question not attempted

L
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80.

81.

82.

Which of the following are the
components of emaotional
intelligence, according to Myers
and Solvey model ?

Arrange the following in order :

A.  Perceiving emotions

B. Understanding emotions

C. Managing emotions

D). Using emotions to facilitate

thought
Codes :
() A B.CD (2 ADBZC
3) BCDA 4 CABD
(5) Question not attempted

Attitude and sentiments are those
traits that directs the behaviour of
the person in a particular
direction, are called

(1) Ability trait

(2) Dynamic trait

(3) Temperament trait

(4) Fundamental trait

(5) Question not attempted
Match the following :
List-I List-11
(Measures of (Scoring
personality element)
assessment)
A. MMPI 1. VXYZ
scales
B. MCMIT 1. Needs and
presses
C. TAT u1. Popular-
original
D. Rorschach ink iv. L. %1
blots scales
Codes :
A B C D
(1) 1 i 1 W
(2) 1 iv 1i1 1
(3) 1 111 v 11
(4) v i i1 i1

(5) Question not attempted

Peabody Picture Vocabulary Test
or PPVT is related to which of the
following test ?

(1) Intelligence test

(2) Personality test

(3) Creativity test

(4) Aptitude test

(5) Question not attempted
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84.

85.

86.

According to Oostdann & Meyer
(2003). test anxiety appears fo
have 3 components,

Choose the correct option.

A, Worry

B. Emotionalty

C. Lack of self confidence

D. Tension

(1) A,B.D 2) A, CD

3) A B,C 4) B,C,D

(5) Question not attempted

Experimental and quasi
experimental research can be
distinguished on the basis of

(1) Manipulation of independent
variahle

(2) Random assignment of
subjects to  experimental
condition

(3) Studying causing relationship

(4) Applying statistical methods

(5)

In one way ANOVA, the calculated

F-value is less than the table F-

value given then _____

(1) Accept the null hypothesis
that the population means are
equal.

Question not attempted

(2) Reject the null hypothesis
that the population means are
equal.

(3) Sometimes accept and
sometimes reject the null
hypothesis.

(4) All of these

(5) Question not attempted

According to Cattell's theory,

Aman is better than most children
his age at seeing complex
relationship and solving problems,
he would probably score high in
which type of intelligence ?

(1) Crystallized Intelligence

(2)  Fluid Intelligence

(3) Semantic Intelligence

(4) Componential Intelligence

(5) Question not attempted

77
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88.

89.

90.

The purpose of grounded theory
study is to

(1) Describe cultural
characteristics

(2) Generating and developing a
new theory

(3) Describe one or more
individually experience of a
phenomena.

(4) Describe one or more cases in
depth.

(6) Question not attempted

Which one of the following is a

limitation of case study ?

(1) It does not provide in depth
information of the subject.

(2) It is difficult to generalize
from the case study.

(3) It is useful only in clinical and

counselling psychology.

(4) Tt uses diverse methods and

sources to collect data about

the subject.

(5) Question not attempted

Choose correct answer :

Assertion (A) : Factorial design
experiments are less efficient

than quasi  experimental
design.
Reason (R) : Factorial design

experiments yield information
about the main and
interaction effects variable.
Both (A) and (R) are true and
(R) i1s the correct explanation
of (A).

Both (A) and (R) are true, but
(R) 1is not the correct
explanation of (A).

(1)

(2)

(3) (A)1s true. but (R) 1s false.

(4) (A) is false, but (R) is true.

(5) Question not attempted

The primary method of data

collection used in
phenomenological research is

(1) In-depth interview

(2) Participant observation

(3) Analysis of standardized tests
(4) Multiple methods

(5) Question not attempted
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92.

(1

(2)
(3)
93.

C,B,D A
A CBD

&

Single subject experimental design

is characterized by

a. Repeated measurements
taken across time on
individual.

b. Experimenter has full control
aver the order effects.

¢. The design provides good basis
for generalization.

d. It provides such information
about human behaviour that is
not always obtainable in group
designs.

Codes :

(1) aandbonly(2) canddonly

(3) aanddonly(4) a b,candd

(5) Question not attempted

Choose the correct answer :

Assertion (A) : Formulating a
specific problem statement helps
to ensure that the
experimenters understand the
problem.

Reason (R) : A specific problem
statement helps the
experimenters make necessary
decisions about such factors as
participants, instruments and
measure, good grasp of vanables
to be investigated ete.

(1) Both (A) and (R) are true and

(R) is the correct explanation

of (A).

Both (A) and (R) are true, but

(R) 1is mnot the correct

explanation of (A).

(A) is true, but (R) is false.

(4) (A)is false, but (R) is true.

(5) Question not attempted

Arrange the following research
methods 1n  order of their
increasing potential to find causal
relationship :

A. Experimental method

B. Tield studies

C. Surveys

D. Quasi experiments

are
one

2

(3)

Codes :
() AAB.C.D (2 CBDA
3 CDBA 4 ACBD

(5) Question not attempted
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95.

96.

| 97.

98.

would be false about multiple
correlation ?

A. It ranges from — 1.00 to 1.00 only.
B. It ranges from 0 to 1.00 only.

C. It ranges from — 00 to + 00,

D. It ranges from — 1.00 to 0 only.

Codes :

(1) Only A (2) Only B

(3) CandD (4) A, CandD
(5) Question not attempted

‘Males are more extroverted than
females' 18 an example of

(1) Null hypothesis

(2) Non directional hypothesis

(3) Directional hypothesis

(4) Unverifiable hypothesis

(5) Question not attempted

In which of the followings, detailed
informations are gathered from
particular individuals ?

(1) Survey

(2) Clinical case history

(3) Case study

(4) Field Study

(5) Question not attempted

In a survey of students, each
student was asked to share his
view on the ‘relevance of present
educational system’ in not more
than 60 words, is an example of

(1) Scale item

(2) Closed-end question
(3} Check list item

(4) Open-end gquestion

(5) Question not attempted

In a single group pre-test and post

test design which one of the following

statistical method can be best

emploved to evaluate the mean

differences of pre and post-tests ?

(1) Mann-Whitney U test

(2) Randomised ANOVA

(3) Chi square

(4) One way repeated measures
ANOVA

(5) Question not attempted
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:
I
i
i
!
|
i
|
|
|
|
I
J
I

(3) Fowmifafn  (4) $upfafa
(3)
102. F1-1 1 5111 & =14 gafed Hifag
g1 -1
A. HYAH "@Add i Ad9dl
B. arafasumy . faveada
C. WEAYEF i, HHERS
D. WeEEETE v, Wdd
Ty B ¢ D
El i1 i i v
2) il v i 1
fﬁ 1 i i iv
4) v 1 u 1L
(5) IAA TH
103. Fn=fesfgs 1 & =9 =i fafa =0 aff gfiem
ﬁﬁﬁuﬂw%ﬁuﬁwqﬁﬂﬂqﬁm
ﬂTFE'J,f
witem gdfiEm
B. w2 fa=e
C. "HAWEY
D. g FaHa (F.970 52)
ﬁ A 3B (2) A3mC
(3) B3mD (4) A C#RD
(5) IqalE 99
o 28

99,

100

101.

102,

103.

. The main advantage of a survey

Which test 1s of
parametric test 7

(1) Sign test

(2) Rank test !
(3) Kruksal-Wallis test 1
(4) Z-test 1
(5) Question not attempted

the part

method is that
(1) Only a small number of
subjects need to be accessed.

(2) A large amount of data can be
athered.

(3) %‘he chance of experimenter

error is removed.

(4) Subjects will not know if they

are part of control or

experimental group.

(5} Question not attempted

While considering the sources of
measurement error, which of the
following method is not used fnr
calculating internal consistency ?

(1) ht half method (2) KR, method
5‘3} pha method (4) Kappa method
5) Question not attempted

Match List-I with List-I1 : |
List-I List-11 |
A. Consistency in 1. Validity -

measurement -
B. ii. Reliability

A{:tu ﬂi
measurement

4 ii1. Standardi-

D zation

Norms in
measurement
iv. Documents

Archieval
measurement
es:

1) n 1 111
2) i v 1
3 i i1 1i1
4) iv i il
5) Question not attempted

Which of the following methods
should not be applied to determine
the reliability of speed test ? 1
A. Test retest

B. Split half

C. Parallel form

D. Rationale equivalence (K.R. formula)

Codes :
1) Aand B 2) AandC
Eiﬁiﬁ Band D Eé} A, Cand D

Question not attempted

D
v
].'I.
w
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104. 19 & U HEE g H 9T H I 104, Which one of the factor is not

105.

106.

107.

108.

i 4

wHTaa FE a2 ?
(1) e & emEr
(2) wfeesl i faun sdiEa
(3) st BREEaH

(4) T4 o afrsia

(5) 3w 39

q_#tlﬁqiaﬁu%mg&haﬁﬁn
-1 gefi-11

A. e/t =ihea i, A

I
t
|
|
|
|
}
|
B. 3m-3m-u-vH- i ﬂﬂmﬁ l
3-41 w94 |
C. orEEEs s il wRAAwE |
a9 fiEere i
D. nugdtus iv. Eeivg i
F: i
A B C D |
(1) 1 i i1l iv l
(2) iv i i i a
(3) iii i i iv :
(4) iii v i i '
(5) st S |
Ife ws gfg Tiam &1 dua a1 "EwEy [
fara et o e % g ol o ww |
YN % T8 | F1 FE1 & 79 3951 3598 |
T T B B |
(1) sfesramf Suar (2) guadf dum |
(3) THATHF A9 (4) FEE a9 |
(5) FITIE 59 |
& g s e R, |
TN % TR R 2 & w6 E, Hﬁﬁ*
faafaa qﬁmﬁmﬁmaﬁﬁﬁil
AT R e iadm g o |
(1) «mEr (2) -FH e |
(3) 3EA-=Edl (4) g |
(3) FEwiE ¥ |
VI EH FT 2 7 |
(1) HAr=aiteh Srdar &1 919 t
(2) g i fafy !
(3) M faverm $i faf |
(4) T o ) fafa ‘
(5) 3ot 99 I
29

affecting the validity of test ?
(1) Length of the test

(2) Sample heterogeneity

(3) Socio cultural difference
(4) Modifyving the instructions
(5) Question not attempted

105. Match List-1 with List-11 ;
List-1 List-I1
A. Type A/B 1. Jackson
personality
B. R [-A-S-E-C ii. Bayroff and
Fuchs
C. Voeational 1. Friedman and
Interest survey Rosenman
D. ASVAB iv. Holland
Codes :

106.

107.

108.

A B C D
(1) i i 11 v
(2) iv i1 i ii
@) i i i v
(4) i v i i
(5) Question not attempted

If an Intelligence test is validated
or correlated against the marks
obtained in  the  previous
examination without anv time gap
then the purpose is to know

(1) Predictive validity

(2) Concurrent validity

(3) Construct validity

(4) Criterion related validity

(5) Question not attempted

A state of confusion prevails when
factors other than independent
variables are not  properly
controlled which can contaminate
results of experiment, 1= called

(1) Deception

(2) Double-blind effect

(3) Confounding

(4) Experimenter’s bias

(5) Question not attempted

What 1s coefficient alpha ?

(1) Measure of Internal consistency
(2) Method of validity

(3) Method of item analysis

(4) Method of calculating norms
(5) Question not attempted



109. Tl T F A FEEE IR EAT | 109, Sudden

EAEA fFa TR R IR R ¢
(1) wiEdfrafe @ =femak |
(3) wwfEEwIf (4) FhE I |
(5) FARIE |
110. 7% s wifer fave # @ & 3 |
|
t
|

afTE] & SITET W 3T I e &6
qumma#ﬁnzmﬁﬁaﬂ%
& 77 e 2, 39 wwE AT
AR F R
A EIR |
Ta [ afe$: 2
(4) e AT 4TS # | i
(5) I o= i
111. afg UF F@-a@Ha Fa § 7= & 9 |
STHTHE AR H1 TG FA A 2 |
ﬁhmﬁyﬁﬁfmmﬂﬂ
== 0 A 98 a2 1
(1) #F#5eEg (2) #H=FwEm 1
1
4
|

(1)
(2)
(3)

(3) WATTIEN WA (4)  HIETHT
(5) FFFaRa wH
112, us siwref % fem s s v wis sy
F1 sifa = & 3w fordt =t 1w,
3, foen & o% w9y 61 S99 6 o =
2| frfefiga § 8 o9 o 9= 39 feafa |
o wdam @ 7 1
(1) e fagerm (2) 7oA favewor |
(3) 0= favemm  (4) e favemm |
(5) FAANG 9 =

|
l.
113. ffefas % & =0 & o= g=e |
gifiersht & 3pam & o gufea adi 2 7 |
(1) =aen s =9 8 fagfa & |
AT | :
(2) nﬁzﬂaﬁwmmagaaﬁm;
HETEE AR B |
(3) = W W9 H=OS U I
9 9T E |

(4) uﬁa;ﬁaw%;mﬁmaﬁm!
=1fea | i
HAHAE 9 !

()
o

110.

111.

112,

' 113.

noise  during  test

administration’ 18 what type of

error in measurement 7

(1) Vanable error

(2) Personal error

(3) Accidental error

(4) Systematic error

(5) Question not attempted

If wyou have conducted your

statistical analysis and the results

state that you can reject the null

hypothesis but this, in fact, is

mcorrect, vou have

(1) made a type I error.

(2) made a caleulation error.

(3) made a type Il error.

(4) stated the wrong hypothesis.

(5) Question not attempted

If a researcher wants to find out

the ‘aggressive behaviour amongst

children in the class room setting

and frequency of such behaviour

exists in which kind of children.’

This is the example of

(1) Field studies

(2) Field experiment

(3) Laboratory experiment

(4) Interview

(5) Question not attempted

For a researcher, a brand called “Zara”

is the dependent vanable of interest &

its relationship to an individual's

income, age. education 18 being

investigated. Which of the following is

the best technique in this case ?

(1) Regression Analysis

(2) Cluster Analysis

(3) Factor Analysis

(4) Discriminant Analysis

(5) Question not attempted

Which one of the following

assumptions is not matched to use

the parametric statistics ?

(1) Population should be
normally distributed.

(2) Homogeneity of the sample is
not so much important.

(3) Vanables measured in terms
of interval and ratio scale.

(4) Each of the observation must
be independent of each other.

(5) Question not attempted
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114. Frafefes § 8 95 3 90 ad gafem £ 7

A, ifiEr . Fm dfm @ A |

dfree HifoR TR W mEfE

T Te¥ el FTd!
2
B. mvard dfFw - sRfEal @ M
EalEEa T 77 A% gt
FF AT 2 |
HITSERT dfaeR1 HIfEERa i
ElEiE S
B |
(1) ad A (2) FIAAIFRB |

(3)
(5)
115.

FAA AN C (1) &Faa C
ST

frofafee 8 8 &9 @ w e |

FIFHIH I HE AR & 7

(1)
(2)
(3)

(4)
(5)

116. &M

A,

cHREDOow

(2)
(3)
(4)
(5)

77

a1 HifrTatl S g

T faga 3ar= %

q AEH FIVEIH] F A9l
O T

HIZ(eAA &1 I291EA ST

FATA ¥
# IS -GAATEE el °

31t B & Pt ST 2w

T 1 weasiE g diar @
AR |

3% SAfhed % TRe]

wHon faram

a3 Fasioan 77 &9 e

P iCa

A B C3RD
B,C.D3mE
C,D, EaRA
E. A Ba®D

HAANG TH

|
|
|
|
|
|
|
|
|
|
|
i
1
|

|
i
!
|
|
I
|
|
|
|
|
E
|
i
!
|
|
|
]

ES

114. Which of the following pairs is
correctly matched ?

A. Afferent Carry message
neuron from the
central nervous
system to the
muscles of the
body
B. Efferent Carries
neuron information

from the senses
to the central
nervous system

C. Interneuron Connect the
afferent
neurons to the
efferent
neurons

Codes :

(1) Only A

(2) OnlyAand B

(3) Only Aand C

(4) Only C

(5) Question not attempted

115. Which one of the following is not a
function of Glial cells ?

(1)

(2)
(3)

(4)
(5)

Getting nutrients to the
neurons

Generating action potential
Cleaning up the remains of
dead neurons

Generating myelin

Question not attempted

. 116. People wvary in their perceptual

i)gmtrve styles which may be due to

STet

E.

The degree to which their
perception are flexible
Aspects of their personality
Rigid belief

Field dependence
independence
Motives

or field

Codes :

(2)
(3)
(4)
(5)

.

AB CandD
B.C.Dand E
C,D, Eand A
E,A,Band D
Question not attempted




117. 98 % = gum & f5ms g smam, afa | 117

a1 981 7% e F wig WA d@

itk ST &) G191 Ud YHE] § qiEdT
B2 7
(1) wazs &l (2) Treh afe

(3) HITH o4 (4) ALt Ea
(5) G 9

118. 7@ %1 F 11 9 24 7 39 % 9y

119. =+ A% 49 &1 @&y

e w1 9 # fawehl 99w & 9 @
vHEEmm E difzan I g ¢
(1) e (2) %
(3) = (4) FFFEMEE
(5) WA 9+
En
frEna? |
A e gt
B. el wraafEt
C. ot uimufaai
D. ufEmt

A B3mC
A mft

iﬂ:
(1) A3WB
(3) A C3mD

(5) Freic g

(2)
(4)

120. -1 =1 G111 & @19 Wafea $ifse

19 feu MU ez HHA1 H GEEar ¥ =
I HTHIT RITAC

gefi-1 HHI-IT
(RigEHie) (amTfaa )
A. THifeEHIeEd 1. UesAgE an
(ACH)
B. snaTEA ii. 3=9EE
C. famaifa iii. e = A
D. THEEEE iv. UTie=aA T
e :

A B (& D
(1) i ii i v
(2) i i ii iv
(3) 1 v i i1
(4) ii i1 v i
(5) FAAIa I

118.

119.

120.

What is the ability whereby the
structure and functions of brain
cells change in response to trauma,
damage or even learning ?

(1) Shallow lesioning

(2) Deep lesioning

(3) Cell regeneration

(4) Neuroplasticity

(5) Question not attempted

Which part of the eye hardens
we age, thus causing many
suffer from presbyopia ?

(1) Rods

(2) Cones

(3) Lens

(4) Vitreous humor

(5) Question not attempted

Autonomic Nervous
concerned with the regulation

as
to

system  1s
of

A. Smooth muscles

B. Skeletal muscles

C. Cardiac muscles

D. Glands

Codes :

(1) Aand B (2) A,BandC
(3) A CandD (4) Allofthese
(5) Question not attempted

Match List-I with List-II and select
the correct answer with the help of
codes given below :

List-1 List-11
(Neuro- (Possible
transmitters) disease)
A. Acetylchaline 1.  Alzheimer's
(ACH) disease
B. Dopamine 1. Depression
C. Serotonin iit. Pain controlling
chemicals
D). Endorphins  iv. Parkinson's
disease
Codes :
A B C D
(1) m i 1 v
(2) i i1 i v
(3) 1 v il 11
(4) n 1 v 1
(5) Question not attempted




121, df3® =9 gfa 7% d6s F@T $ 9900 | 121. What is the correct sequence of

H w2 a1l HeAIH 1 GE R 7
A. @R g9nE w1 s

B. un= faefees aua

C. e amge e

D. @ d9ns %1 HyemEm

e

(1)
(3)
(5)

122, WHiEAShTE Fogpe i S i e 1 F1iaH
Haél gepe Fifza g 2 7

(1
(3)
(5)

123. Hehe I9wA/HA fagi &y 9w
TEARAHE ?

(1)
(2)
(3)

(4)
(3)

124, g fafa =1 398 of 30 sma1 2

(1)
(2)
(3)
(4)
(5)

125. 994 &M & S g4 1 Hia1 qmea:
&l 2

(1)
(2)
(3)
(4)
(5)

n

A,B,C,D ¥
D,ACB (4

FAAHA 7

D,C B A
B,D,AC

¥ uIfe
qrEEHTE I

s (2)
s Tfe (4)
FHATA T

Tf, wrgaT, N 3 Hicaa &
faz, wivga famem, adt famem 3in

20 — 10,000 74
10 — 20,000 &&=
20 — 20,000 &S
1000 — 5000 &&=

A 99

s ey e . o B . S Bt 8 e L T T % T S . T M S A T R WA S0 e, B, . 8 i D B i e . | R . R " L L R R A B .

122,

123.

124.

125.

events

the

UC{.LllI'I.IIg in

transmission of nerve mpulse
across the synapse ?

A. Releasing of neuro-transmitters
B. Post synaptic potential

C. Binding on receptor sites

D. Synthesis of neuro-transmitters

Codes :

(1Y ABCD @ DCBA
(3) D.A,C,B (4) B.D,A C
(5) Question not attempted

In which lobe of the cerebral cortex
the somatosensory cortex lies ?

(1)
(2)
(3)
(4)
(5)

Frontal lobe
Temporal lobe
Parietal lobe

Occipital lobe
Question not attempted

Four important elements in the
theory of signal detection are

(1)
(2)
(3)
(4)
(5)

Errors, Hits, speed and
accuracy
Speed, accuracy, power and

false alarm

Hit, false rejection, correct
rejection and false alarm
Acuity, efficacy, speed and
power

Question not attempted

Method of limits is also known as

(1)
2)
(3)
(4)

(5)

Method of minimal changes
Method of adjustment

Method of frequency

Method of right and wrong
cases

Question not attempted

The human ear can generally hear
sounds ranging from

(1)
(2)
(3)
(4)
(5)

20 - 10,000 Hz
10 — 20,000 Hz
20 - 20,000 Hz
1000 — 5000 Hz
Question not attempted



126. =11 &1 7111 % w12 gofea $ifsw w3 | 126.

F19 fom T Fe1 ) gEE § E I
Wﬁﬁ'ﬁ!{:

-1 HqEI-1T
(rETtE Sam) (g w )
A, #iga= i =Efafus

fagra
B. gra@iy 1. Tes fagra
C. s . frgs de
fagr=
D. fasm i‘.'.'il'lgéﬁﬁﬂ'l
$:

A B C D
(1 i it i iv
(2) ii iii i iv
(3) i i iv iii
(4) i i i iv
(5) 3w ¥

127. Frafafad 8 4 %19 @ 1 1k §9d =H
1 wuTlea TE FEE 7
(1) Heed WA
(2) e st
(3) HaE fa=E
(4) FE9E I Tl
(5) FATNA 9
128, Feafefigs 4 @ 9 o faer g v
TOTHA SIMTAA] 1 I 7
(1) & aaam
(2) FAETHee SR
(3) foafes wrgiea
(4) =134 HeAEy
(5) HAITHE HH

129, 8% # digal § 5= 7@ F4 & o0

i 3eme 6l a9 wE H§ i
T AR

(1) e s

(2) Ta=1a g

(3) AW Y 3

(4) ZATH 3FE FAAT

(5) FrgeiRd ¥

]

"

B I L e e i e

127.

128.

129.

Match List-1 with List-11 and select
the correct answer with the help of

codes given below :
List-1 List-I1
(Name of (Name of the
Psychologist) Theory)
A. Broadbent . Multimode
theory
B. Triesman . Filter theory
C. Johnston and 1. Filter
Heinz attenuation
theory
D. Miller v. Magic
number
Codes :
A B C D
(1) 1 111 1 v
(2) 11l 1 v
(3) i i iv i
(4) 1 1 il v
(5) Question not attempted
Which one of the following factor is
not influencing the sustained
attention ?

(1) Sensory modality

(2) Temporal uncertainty
(3) Cognitive set

(4) Clarity of stimulus

(5) Question not attempted

Which of the following 1s a disorder
resulting from two recessive gene
inheritance 7

(1) Turner's syndrome

(2) Klinefelter's syndrome

(3) Cystic fibrosis

(4) Down syndrome

(5) Question not attempted

The smallest amount of change in
a physical stimulus to notice a
difference 1in the intensity of the
stimulus is known as

(1} Absolute threshold

(2) Difference threshold

(3) Just noticeable difference

(4) Just not noticeable difference
(5) Question not attempted
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130. TETE SrAEiRTT WO g3 wgE W | 130,
o weafea e man o |
(1) Pmsw (@ wWHIW
(3) MW (4) gEgwW
(5) HAwHE g
131, 99 g @ed £ st e w
anatas wfam @ ofads FeEm 9+ 4
BT B, T wm o TEw W
wegefter AT w9 4 A i B | 98
Jare &
(1) wmr e (2)
(3) wrferm (4)
(5) HAwE g
132, UIEETHT0Ea S Ieaed HeaAnd At 8
Sy S F _ d A
(1) F3* 2y Tafee
(3) gAH (4) Hifw A
(5) I 9
133.%&%%%%@!
% fogral 4 afifem e 2 7
A, wTfa gegfa, wd, fr t
B. iy, faman, amm & |
C. =T, JEE, A }
|
|
|
1
|
|

131.

=Y T
ELEA |

132,

e e L | U ———

133.

D. ¥MA &3, A=A, g

#i9 feu U F2 wHdl F1 HEEA 2 TE
I H1 994 Hifa0

R
(1)
(3)
(3)

CaTD
BamC

A TR
A B3 C
AT 79

1
134. Ffeafigs & & & =1 o srefoes ot |
& fufo & fou e 8 7 |
(1) TsEmPE (2) IR ;

|

(2)
4)

134.

(3) widivfgz () dHwEwn
(5) AT g

77 35

The classic visual cliff study on
depth perception was conducted on
(1) Infants

(2) Animals

(3) Adults

(4) Old people

(8) Question not attempted

When opening a door, the actual
image on your retina changes
drastically, but you still perceive
the door as a rectangle. This is an
example of

(1) Size constancy

(2) Shape constancy

(3) Colour constancy

(4) Brightness constancy

(5) Question not attempted

Mitochondria are the energy

producing structures located in the
of every cell.

(1) Nucleus

(2) Membrane

(3) Dendrites

(4) Cytoplasm

(6) Question not attempted

Which of the following are included
in Gestalt principles of grouping ?

Figure ground, Proximity,
Continuity

B. Proximity, Continuity,
Common region

C. Continuity, Similarity, Closure

D. Common region, Closure,
Facilitation

Select the correct answer using the
codes given below :

Codes :
(1) Aand B (2) CandD
(3) AABandC (40 BandC

(5) Question not attempted

Which one of the following is
responsible for the determination
of hereditary traits ?
(1) Ribosomes
(2) RNA
(3) Amino acid
(4) DNA
(5) Question not attempted
o
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135. T 9291 % s fagr= 2
(1) SHshHFEIg  (2) '
(3) FHEYE  (4) uq
(5) A 99
136. ®IH § VS TEUS Hha Well yEA F |
Y T4 & o F7 t@mel i w2l g
YA WA T FA B A el & 7
1) hfegm (@ wWaige
(3) T=Ey (4) T3 W=
(5) 3w we
137. e o & = o o gofem @i 8 7
(1) wAHf Fefise - ggii:imﬁ
(2) ﬂ_‘iﬂt&{ﬂflﬁiﬁt‘ﬁ -
(3) TmH=A — e
fam
(4) HtawH — fm
(5) FAwIHA T
138, nfd  sr=eyar . wen fainfl @59 |
H U H o %1 i # |
(1) ¥, afege
(2) wftgss, i 3m
(3) <A, 3dT
(4) orid, uferss
(5) HATHG 4
139, 7 § ws fam A wdiv sl 28 wR A
e & Wid =g gldlEn @ $
FETAT 19 G H4E G S SR A 8 ?
(1) 9 FAq5eH
(2) W AFHeH
(3) o wiaE
(4) Tt ufFma fogr=
(5) HATIHE 9
140. HeHTA FR 7 =
(1) 94 @ % fo=n & =1 & SEen |
=T &1 U =l = g |
(2) TEEE ® AN A A S |
(3) ZE 1 wEA &) §9E -
(4) Ft = ufmman & ofs sves |
BT |
(5) 3HFaid 99

36

135-

138.

| 139,

140.

Phi phenomena is the principle
behind

(1) Tlusion of brightness

(2) Illusion of distance

(3) Illusion of size

(4) Tllusion of movement

(5) Question not attempted

. What monocular depth cue can best

explain why railroad tracks appear
to come together in the distance ?

(1) Convergence

(2) Linear perspective

(3) Owerlap

(4) Texture gradient

(5) Question not attempted

. Which of the following is not

correctly matched ?

(1) Inferior — Auditory
Colliculi functions
(2) Superior - Visual
Colliculi functions
(3) Tegmentum - Substantia
nigra
(4) Cerebellum - Slee

(5)

Motion sickness often results from

conflicting signals sent from the
and from the

(1) eves, vestibular organ

(2) brain, internal organ

(3) conscious, unconscious

(4) eves, brain

(5) Question not attempted

A deer's inability to quickly
respond to the headlights of an
approaching car at night is due to
what sensory phenomenon ?

(1) Dark adaptation

(2) Light adaptation

(3) After image

(4) Opponent process theory

(5) Question not attempted

What is metacognition ?

(1) One's ability to talk about his
or her own thuuiht

(2) Thinking about homework

(3) Understanding other’s feelings

(4) Being aware of our thought

Processes
(5) Question not attempted

Question not attempt
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141, A A FRAFE TEGE ¢

142,

143.

77

a.

b.

d.

(1)
(3)
(5)

dar FEmmER Hagw & dEa |
IE B AL FE 2 | |
Hiaw Fawan wEfEs dea § |
9fe = wfe ww A G |
dftean & T H e 2 | f
frrm e Qi S fa T E |
Fq FAW &l & A 50 A 50% F |
i am TR o | !
EAGRCE R ECLCIE R LR
FH H & TN TEFE1 A Hh |

FaFadATh (2) FEAbh AR c
FaAc AT (1) Fada ANd

l
!
|
A |

Fu (A) : =9F zand uNE H w9gd |

SR B B | |

& (R) : vy B dw=E # |

(1)

fopamefter et B, S e EET |
F fuifEwEa d | |
(A) T (R) gFi & & @1 (R),
(A) = HE =TT HAT R | |
(A) 31 (R) 2Hi 979 & w4 (R),
(A) F1 |8 = T8 i 2 |

(A) FE &, 7 (R) Ted & |
(A) T 8, T (R) B 2 |

=
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1 141. Which of the following statements

are false ?

a,

d.

(1)
(3)
(5)

Webber law depicts  that
intensity of sensation is a
logarithmic function of stimuli.
Steven's law  posits  that
sensory magnitude increases
proportionately to the physical
intensity of stimulus raised to a
POWer.
DL 1s the minimum difference
between two stimuli noticeable
or detectable 50 or more than
50% of times,
Just Not Noticeable Difference
(JNND) is the minimum
difference between two stimuli
detectable,

aand bonly (2) b and conly

cand d only (4) aandd only

Question not attempted

142, Assertion (A) : Opiate drugs are

very addictive in effects.

Reason (R) : Endorphins activate

(1)

()

(3)
(4)

neural system that mediate
the pleasure experience.

Both (A) and (R) are
individually true and (R) is
the correct explanation of (A).
Both (A) and (R) are
individually true, but (R) is
not correct explanation of (A).
(A) 1s true, but (R) is false.

(A) 1s false, but (R) is true.

(5) Question not attempted
143. Match the following :
List-I List-I1
A. Gestalt i. Principles of
organization
B. Mlusion ii. ‘Fool the eye
C. Figure and ui. Shape
ground perception
D. Three iv. Depth
dimensional perception
vision
Codes :
A B C D
(1) 1 11 111 v
(2) i i v 1l
(3) iu i 1 v
4) iv i1 i i
(5) Question not attempted




144, T8 w1 % qa9 # 3r3fFad wofi % | 144. In which kind of conditioning,

145.

146.

o 7 Bl B sl U Bt £ 7 ;
(1) Afufes sam |
(2) TH.-FW, 3FF4A i
(3) Wi FEEE I
(4) WETH YA !
(3) HAAHA T i
fras gaa fe f sfimfne faem |
uferss % = @iz &3 Fagafese |
Wihzdl Hiead & HAU 7@ GHd] £ A1 |
w1 7 frator w3 #§ geg wr g |
o 7 frafa fFm s asm 2 7
(1) #amdw  (2) =vEm
(3) TEATm (1) FEeR
(5) HRE 9H
Frifeafiga @ & =19 =1/8 3w 56 gafeq |
BIE?
A TuFfes — 74 HjEgad W@
YA FHEE e A

|
{
|
|
i
|
|
|
|
|
~ T4 FAEA 3E9E F |
|
I
|
|
|
:
|
|
|
|
|
F
|

H1 i {6 19 # |
B. fa=feas
EECC I L B
39 A B A2 |
C. f== — FAqEtEd HuH #®
e CEor I AN e
3 YRe WO EET R |

D, 9FTH - gEua 3ETR F
FAEHA i S S |

st W9 d |
% @9 Fw " |
AU AR |
+:
(1) I A (2) FIAAINB |
(3 AB3RC @) Fa@D F
(5) FaRa 9w F

145. Who

responses are under the control of
organism and voluntary responses ?
(1) Operant conditioning

(2) S-R conditioning

(3) Classical conditioning

(4) Reinforcement conditioning

(5) Question not attempted

suggested that learned
helplessness may be due to a
higher level region of the brain
known as the wventromedical
prefrontal cortex which help
subjects determine what s
controllable ?

(1) Seligman (2) Bandura
(3) Steven maier (4) Kohler
(5) Question not attempted

! 146, Which of the following pairs is/are

correctly matched ?
A. Simultaneous — When CS and

conditioning Us are
presented
together
B. Delayed ~ When the
conditioning onset of CS
precedes the
onset of US
C. Trace — The us
conditionimg precedes the
onset of CS
D. Backward — The onset and
conditioning end of C8

precedes the
onset of US
with some
kind of gap
between two
Codes :
(1) Only A (2) OnlyAand B
(3) ABandC (4) OnlyD
(5) Question not attempted




147. ﬁnﬁﬁﬂr—rmaﬁm@:mqﬁm | 147, Which of the following concepts

qmmﬁmmaﬁr?
UTTET TR

nfas =2

ST T H AR

d. 3= A9UY yNE

(1) SHada, badic

(2) *aFa, bdard

(3) Ha a, cTdTd

(4) ®ad b, cEUTd

(5) 3wl 99

6 oe

148. %9 ¥ fogm= =1 g9mE: e e g

Hefa fFmr s 2 2

(1) Ziei &1 segea sty fggr
(2) wiwen w1 g fagma

(3) wfamda =1 wffe  faEmea
fagr=

AU T A g

FAANA 99

(4)
(3)

149, saféada fgw' (Y6 9getens g+E &

ufd T ¥z 31 i v3f) v %1 gfaed
e o 2

(1) HESTHT (1962) (2) He0E (1961)
(3) FHZ (1963) (4) T (1964)
(5) FHwE T

150. ZAEF & UF 49 § Ipatasa 98 =t
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f& f5 981 & wqg &) eade w9 F
7A feq 912 W B3 3= oA & AU
it &% =g wEaE e e 39 |
=@ 4 52 wau & 4 & gaedem femr = |
T o | 39 favemn 3 a2 6 1 e

I
q@m@'@mﬁmm
g 9 |

(1)
gmr:nﬁ:qﬁnaqﬁﬁzﬂ@gai
|
I U g gE W SEE TR |
HTET &4 &1 3FF90 1 |

(2)
(3)

(4)
TS % BTy IR B H1 HE |

(5) 3t W

q =g q@ 9 I sEfee s |

|

l
|

|
i
i
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149.

150.

Pavlov used for the theoretical
explanation of classical conditioning ?
a, Cortical Mosaic

b.  Dynamic stereotype

c. Irradiation and concentration
d. Latent inhibition effect

(1) a,bandconly

(2) a, banddonly

(3) a, candd only

(4) b,candd only

(5) Question not attempted

. Which theory is commonly referred

to as the ‘aha’ phenomenon ?

(1) Tolman's latent learning theory

(2) Kohler's insight theory

(3) Seligman's learned helpless-
ness theory

(4) Bandura's observational theory

(5) Question not attempted

Who coined the term ‘instinective

drift’ ?

(1) Osterman (1962)

(2) Brelands (1961)

(3) Bennett (1963)

(4) Bucher (1964)

(5) Question not attempted

In Tolman's maze study, the fact
that group of rats receving
reinforcement only after day 10 of
the study solved the maze far more
quickly than did the rats who had
been reinforced from the first day
can be interpreted to mean that
these particular rats

(1) were more smarter than the

other rats.

(2) had already learned the maze
in the first 9 days.

(3) had the opportunity to cheat
by watching other rats.

(4) were very hungry and
therefore learned much more
quickly.

(5) Question not attempted
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